EXERRE WESEACERXEBARIERKINEERER(FMNSEESD))

No | ®%A BRHE samn | TSR [anexus | mremes | —wwn ERNBRUHR
(M) (M) (M)
&5t 53,537,000 51,424,000 0 2,113,000
[(BREANR] )
H%%nsﬁrﬁﬁEﬁééﬁ%ﬁﬁ%l:ﬁﬁémP%.%’a
EH-HR-EH 3401t x 70,000/3=23,800,000F
REMESER (DEEIHSE<P TERFE~AD R6.2.1 -E %% 1,961,000
1 |2XERGE  |ZEETIILT. EREED ~ 25,761,000 25,761,000 0 0
[(HEEENE |HrOEFEHETS, R6.3.31
LUED [(FZONE HRE . HRIERD) ]
40t FH (SIS EEXERBIERFRIET)
[(REANR]
f:‘rum&gE%ﬁﬂ%%ﬂw&%%ﬁﬁ%t:*ﬁ
= x 1075F':].‘u S
@g;fﬁgg 611H % x 100,000/ =6,100,0004
Nomaipns [PESSHECRTETGED |  Re! -7 % 564,000/
2 f.’ﬁ;,\) [4511& XBETITLET, BBED ~ 6,664,000 6,664,000 0 0
Jﬁﬁ%g%ﬁ H [FROEEEMET 5. R6.3.31
21 ™ [ZXOHE (HEE. HAREES)]
BIHE (SHSEEERERNOEE O HEH
&)
[(BRERNE]
-1&;&_}%%&%%@?2%(:?#?6l:*ﬁ’éfwﬁ
Hl‘ﬂ{‘ :
il = e ot IS B 48 A x 50,000/=2,400,000M
REERHAE (ESHSGEKPTERSE~AD R6.3.1 - 75% : 564,000
3 [(FELMESR) |XBEFTILT.EFARBED ~ 2,964,000 2,964,000 0 0
[(MiEEEE ([Aec0EFE#IFT5, R6.3.31
RiTE] [ZXOHE (HEE. AREHRS)]

BN (RHSEEFREBRIFRBEFTRUED
DHABMHEFLLDFED)




EXERRE WESEACERXEBARIERKINEERER(FMNSEESD))

No | m#4 BEME sxom | ®TSR nenua | mrepes | —menR BENERUNR
(M)
(M) (M) (M)
EHHRBEIED =] (ﬁ%ﬁmﬁlo
e O WD R B RIET AR R
=0\, LR A DS E g T 15,470,000F
e e DY ETOBEIEHETHY. | R5.12.13
4 gﬁgggﬂéi FEZHIZH-TITITHEZED LR ~ 15,470,000 14,000,000 1,470,000
7 HEOXHITZ, MEEHO | R6331
FEIEYDITREL=H, B
HEAY—ROHERITLESE [FEDOHFRGIRE . FRERE)]
XEEERT D, 2ER
[(BRERA]
BH-HR-EBRRBEOMES REBNFR REBHFRORELEDRE
BISEDRIBMERER. B | oo, BEELRIER
5 ;%gg%aﬂ: igé}ﬁ:g%\gggf?g&:ﬁg R6;31 2,678,000 2,035,000 643,000
REROSBEAREEET S ~ [ELORNE (HEE. HEHHED)]
IRV RIBERER S, CEEARERNSEER 202,
CERE PR 194




